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Section A:

For each question from 1 to 30, four options are given. One of them is the most

Muldple Choice Questions (60 marks)

suitable answer. Make your choice (1, 2, 3 or 4) on the Optical Arswer Sheet.

i. The table below shows how some muscles have been classified. Which of the

muscles listed below has been classified correctly?

M
(2)
()
4

Muscles that you can control - Muscles that you cannot control
Leg Finger
Neck Heart
Stomach Heart
At - Leg

Some animals carry their young inside the mothex’s body for a period of time
before birth. This period is called gestation.

The table below shows the gestation period of mamgnais and the mass of their

young when it is born. o
s nimal 5 tion (weeks) Ave.;;fne m‘&;\ew-
Mouse 2.5 0.005
Cat - 8 025
Pig ? 1.5
Human 40 3.5
Horse 49 36
Elephant " 95 100

What is the most likely gestation period of a pig?

(1)
@
()
)

3 weeks
9 weeks
40 weeks
45 weeks




3. A small plant with roots and leaves is put into a beaker of red-coloured water.
After a day, 1twasobmedthatthestemmdleaveslndturnedred What

The leaves aremalnngfood andwater

'Iheleavescarrythewamtoﬂ\eotherpmsofﬂ:eplmt
The water from the roots is camried all the way 4o the leaves.
The water-carrying tubes are present in roots, the stem and in the leaves.

does this show?

A

B

C

D

(1) A and B only
(2) B and C only
3) C and D only
(499 AandDonly

[N

4. The flowchart showsso-epartsofabodysystan.}(and‘{aresnhstancasfoundm

blood takenﬁvomthesmall intestine.

:

guliet

blood «— | coal —_— large ’
1 intestine intestine
D all parts of l :
the body out of the
body
What do X and Y represent?
X - Y
(1) Water Undigested food
) Oxygen Carbon dioxide
3) Digested food : ~ Carbon dioxide
(4 Digested food Undigested food
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A
B
C
D

Pollination occurs befors fertilisation.

They have male and female reproductive parts.

The following are statements about sexual reproduction in animals.

Characteristics of the parentis passed on to the young.
Fertilisation occurs when the male sex cell fuses with the egg..

Which of the following statements are true?

Plant A

(1) Aand Conly
) B and D only -
(3) A,Band Conly
(4) B,CandDonly
6. The flowcharst below shows some characteristics of plants A, B, C, D and E,
Plants ” N '
A 4 Yes
Is it grown from suckers? |———| Plat E
l No -
. Yes
Is it grown from underground stems? Plant D
L Mo
- Yes - - Yes
Is it grown from leaves? Does it have hairy leaves?
No
’ No
Is it growﬁ from spores?
l Yes Ph"\mB

Use the information from the flowchart to match the plants listed in the table

below.

(1)
(2
(3
4)

CH/SC/PG/SA1/2005

Plant Plant Plant Plam Plant
A B C : D !
Mould Begonia Rose | Sweet Potato | Bamboo
Fern African violet Begouia Carrot Banana
Mould | Water chestnut | Bryophylium Ginger Potato
Moss | Bryophyllum | African vielet Ginger Pineapple

"

>




7. The Venn diagrams belowahowthemof-howsomea:ﬂmﬂsmove.
Which one of them shows the correct comparison?

)

Q).

®)

@

CH/SCP6/3A1/2005 4
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The diagrams below show the teeth of Animal X and Animal Y.

Animal X \nimal Y
Examples of Animal X | Examples of Animal Y
Snake Cow
Lion » Sheep

- ‘Which of the following dedictions about- Animais X and Y isfare correct?

a ' True | Falee | Not Possible to Tell
A | Animal X eats only plants, v
B | Animal Y is a herbivore. - v
C | Animal X hunts in a group. v
D | Animal Y only eats plaats on land. | v
(1) Aonly
(2) Bonly

3) A and D only
(499 BandConly

Jiemin transferred a pot of rose plants to a sunny part of her yard which was
covered with grass. She watared both the rose plants and prass daily. A few days
later, she discovered that the grass that was covered by the pot had turned yellow
while the rose plants in the pot grew healthily. She gave the following reasons to
explain why the grass had tumed yellow:

A The grass did not receive enough water as the rose plants compete with it
for water.

B The grass had turned yellow as the minerals salts were all absorbed by the
rose plants.

C The grass could not photosynthesize, hence it tumed yellow.

Which of the above reason is/are correct?

(1) B only

(2) Conly ]
3) AandBonly
“ B and C only




10.  James wanted to find out which type of eoil is suitable for growing balsam, cactus
and lotus. He then collected 3 dlﬁ‘a'a'aneoofsonlA,Bdemdplwedthan

each in a funnel lined with filter paper.

Soil A — Soil B S¢il C -
Measuring | | .Measuring, : Moasuring
cylinder cylinder cylinder

After that he pousred S0ml of;\ramarinxomhﬁmdndt‘unedhowkmg_ittookﬁot
the water to completely flow into cach measuring cylinder. The table below shows

the results of his investigation.
Soil A Soil B Soil C

Time taken to collect the water. 6muin 2 1sec 3Secc 20min

Amount of water collected. 22ml 45ml 5.5ml
Basedon'ﬂ:einfomsﬁongiven,chooseﬁemiostaitablésoil for each of the plant
below.

Soil A Soil B Soil C ]
0)) Balsam Cactus Lotus
3] Balsan Lotus Cactus
3) Lotus Balsam Cactus
4) Lotus ’ Cactus Balsam
CH/SC/P/SAN/2005




11. Somepupllsobsetvedthatmorebnﬂsmtedﬂnﬁehimaﬁenhegassls
mowed. They then made the following comments:

WeiZhong: | The birds szre feeding on the cut grass since it is now easier for
them to swallow.

XiuvPing : T‘heb\rdsameanng!henmd\lthwehemkilleddmmgthe
mowing.

Muthu: Since the grass is shorter now, the insects are éxposed, making it
easier for the birds to prey on them.

Joseph:- Afier the field is mowed the carthworms are attracted to the

: bqghxarsodmrﬁoe,ﬂnsmmmmebuds

Whose explanahon(s) 1s/am correct?

_ (1) . Muthn only
(2 WeiZhongonly -
(3) XiuPing and Muthu only
4) WeiZhong and Joseph only

CH/SC/PS/SA /2005
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12.  Some scientists made a study of a certain deer population in a grassland habitat over
a period of a year. (A grassland habitat is a flat plain with mostly grass, shrubs and
very few trees growing on it.) They also recorded the amount of rainfall and
temperature of the area throughout the year.

The information they gathered are shown below from (i) to (iv):
: @) (i5)

Amoust of A Teroperemre/ 'C A

reinfall/m}

. 4 .d -~

Mar Jun Sept Dec Time Mar Jun Sept Dec Time
(i) ) ‘ Herbivores .-Camivores Ommivores:
Numberofpop\ﬂanon Before | Aficr | Before | Afier | Before | After
counted at the beginning 5 6 3 s . 5
and end of the 1 year ’
Total number of animals at ‘
the beginning and end of 339 340 23 - 25 40 | 45
the 1 year _ .

(iv) Theyalsofomdaspec;esofﬁmgmplmtsﬂnthpedoutalld:eshmbsbm
caused no harm to the herbivores which ate themn.

The scientists then used a concept map tommecmmthedeammﬂmdea'

population they were interested in.
A They were ecaten by
other predatoss.
Deer because ! because '
population » B They migrated to ————3 D There was not enough food.
They died of a disease There was
from the plants they eat. forest fire.
- The disease in the
Other animals were plants was spread
competing with the to the deer.

Base on the information given, select the reasons which correctly explsin why the
deer population dropped.

(1)  A,B,Doand H only

(2) A,B,%Eand F only

(3) A,B,D,E, and F only
(4) A,B,C,D,F and G oaly

CH/SC/PE/SA 2005 8



13.

The following diagram shows part of the encrgy path in an eco-system, whare W X,
Y and Z represent organisms in it. ' '

Energy
ﬁ-omthe_* W — X —>yYy — Z

Sun

The organism that is a herbivore is most likely to be represented by .

1H W
2 X
@3 Y
@ Z
14. fI‘he‘graphl)_eIOW,showsmech;ngeintlmpopnlaﬁogofﬁ'ogsma_ppnd_ B
2] ;
3
f A
Weelk
Which of the following events are possible causes for the change in the
population of frogs from point A to B?
A A significant decrease in the water level of the pond.
B A significant decrease in the number of figh in the pond.e e
C A significant decrease in the number df dragoafly nymphs in the pond. o
D A significant decrease in the number of disease-causing organisms that kil
the prey of the frogs.
1) A and C only
(2) B and C only
3) A, Cand D only
(4) B,CandD only
CH/SC/PE/SA1/2005 9
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5. Kamal wants to find out what gas would be released when cooked rice turns bad.
Which of the following set up should he use?
1) cooked rice
—{
jiodine
.(2) &
iodine
€))
4)
limewater
16.  Study the diagrams below. @Naﬂ:
iron
magnet
magnet—— |
) N
A B C
Which diagram(s) correctly show(s) the property/properties of a magnet?
(1) Aonly
(2) Conly
(3) BandConly
@4 ABandC
CH/SC/P&/SA 12005 10
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17. The diagram on the right shows a compass. @—North

Two compasses are placed nesr a bar magnet. Which one of the folldwing diagrams
shows the correct positions of the needles?

(1)N S@ (2>@N —S@
(3)N s (‘)N s@

18.  Farid placed a sundial in a sunny place. He marked om a piace of papér shadows of
the marker at different times of the day. '

N
~
-

marker (s N . —-I——

Which one of the following A, B, C or D was the shadow at 8a.m.?

(1 A N
2 B
3 C
@4 D
CH/SC/PG/SA1/2005 11
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19. Samyplacedthe4setupsshownbebwmthcm%ichoneofmethermomﬂm
in the set ups below will raglstetthehnglestrm&ngaﬁeﬁhom?

v (D)

rough
black

&)

b ——_ 135~
RO UNNNNNIN NN

CH/SOPS/SA1/2005 12
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20.

21.

Kumar connected 2 circuit tester to the circuit card on the right and the bulb lights

up.
§ ™ paper clips

thchoncofthefoﬂowmgdmgmmsshomthemctcomectmnmthebackof
the circuit card? _.

()

3 : 4)

Themagrambelowshowsﬂgearshnkedbyabelt. When gear A tums
anti-clockwise, gear B will tum

(1) in the same direction but twice as fast as gear A

(2) in the opposite direction but twice as fast ag goar A

3) in the same direction and at the same speed a8 gear A
“4) in the opposite direction and at the same speed a6 gear A

CH/SC/P6/SA1/2005 13
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22.  Aliset up an experiment with the following steps:

Step 1: An equal amount of water was poured into a basin.
Step 2: 4 pieces of materials of the same size, A, B, C and D were placed in

the basin.

Step 3: After 2 minutes, cach material was squeeged and the amount of water

Al was trying to find out which material A, B, CorDis

)
@
3)
@)

extracted was collected and weighed.

the strongest
the most elastic
the most flexible

23. Mmabwantstooondnctanexpamtoﬁnddlswofomtypeofplﬂw
‘Which oneofthe following methods can help-her? ; .

(1)
v

3)

@

Usehaﬁngertofee.leﬂaephshcnmuhormugh,
Scrmhewhpwoeofphsuommhnpofumm:ndmsmm
thickness of each marking made.

Fix one end of each piece of plastic to the table and add weights at the other
end to find out the amount of weights needed before it breaks. - '

"Hold up the piece of plastic and see the amount of light passing through.

24, Which of the following are not suitable sources of energy?

wWoOwW»

2
(3)
4

Food

Oven
Geyser
Volcano
Electric fan

B and E only

A, B and E only
A, C,D and E only
B, C, D and E anly

14
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25. The diagram below shows the pathway of a ball from point X to point Y.

Point X -

Which one of the graphs oonectlyshowsthoanontofhnebcmgymd
grav:mhonalpotmualmergyoftheballﬁompauxmpomw

rai

(1) Energy,

)

CH/SC/P/SA L2005
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' GPE
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Time -
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26.  Joynoticed that when she pressed the ‘on/off” switch of an electric kettle, a small
red bulb lighted up and the water started to get wanmer.
Choose the correct energy conversion when the electnical kettle is being switched
on.

Q1) Cm —»Kinetic Enargy—»> Blectrical _, Light + Heat +
Potential Energy Baergy Sound Energy

(2) gﬁ‘ffm —»Kinetic Energy—» Blactrical + . Light + Heat
0 ey Sound Energy . Energy
Electrical

3 -

G ‘Bnergy > Sound Energy — Light + Heat Energy

OF WE —'»_ Light + Heat + Sound Energy

27. Smdythemgyoonversmbdow
. Potential Bnergy —* inetic Energy —> Sound + Heat Energy
Which of the following action/s show/s the same emargy conversion?

A Clapping of bands
B Winding up a toy car
C Switching on a tarch light
D Using a2 hammer to hit a piece of rock
(1) Aonly
(2) - Bonly
- (B3) .-AandDonly ;
(4 CandDonly

28. Smd_ytheVgndiagnmbelow carefully.
Which one of the following activities is X most likely to be?
(1) Kneading dough
(2)  Stretching a rabber band
(3) Hammering a nail into the wall
(4)  Typing on a computer keyboard

Gas- |



26.  The diagrams show a block of wood resting on a glass surface.
"' Two equal foroes(F)areacungonthewood.hwhdldngunwmthewood

definitely move?

(1

glasssurfacc

o ll

g
“)

30. Susan p!aced4ﬁail.softhe'saxﬁe'léngﬂlonapieoé of softwocd as shown below.

]

I

She dropped 4 weights A, B, C and D made from difierent materials onto each of
the nails which were of the same height. The lengths of the 4 nails that went into the
wood were measured and recorded in the tabje below.

Weights Length of nail that went into the wood (cm)
A 2.2
B 1.7
C 0.8
D 1.1

Based on the results of the experiment, choose the statement that shows the correct

inference?

(1)  Weight C is the heaviest.
(2)  Weight A is the lightest.

(3)  Weight B is lighter than Weight D.
(4)  Weight A is heavier than Weight B.

CH/SC/M/SA /2005
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Section B: Open-Ended Questions (40 marks)

-Read the following questions carefully and write your answers in the space provided.
The maximam marks that can be awarded is shown at the end of each question or

part-question.

31. The diagram below shows the cross-section ofa flower.

\ L X
(a)  Onthe diagram, kabel (i) the stigma using the letter A, and
(i) the anther using the letter B. [1]
(b)  What will the parts labelled X develop ino? (1]
2

CH/SC/P6/SA /2005 18



32.

33.

(2

(b)

Cl

The picture below shows an atm of a man. To pull the lower bone up, the biceps
muscle contracts and the triceps muscle relaxes. To pull the lower bone down, the
biceps muscle relaxes and the triceps muscle contracts.

(8)  Which muscle has to work harder dfring both activities? {1

~ (®)  Explain your answerin (a). [1]

2 beakers X and[¥ of the same size were filled with the same volumé 6f water
was set up as shown below. For both beakerz, a layer of oil hag been poured into it

X Y
layer of oil — layer of oil
water M 7ahh ::::.::_ ot water
2727 7777 P2
What is the layer of oil for? (1]
Whatisthepurﬁoeeofbe&aYigtbcaboveexpainﬂn? ]




34. The diagram below shows how blood travels in our body.

Lungs

Heart

All parts of the body

“~

(a) Indicate themovemmtofbloodinourbodyusiﬁg'm ¢« — ) [1]
C® Stateqneéimﬂaﬁtyhetweantbecimﬂﬂwysyﬂqnofahmﬁmdlﬂﬁm [
CH/SC/P6/SA1/2005 20
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35. Aziz collected 4 fruits from a plant that disperses by splitting. He subjected
the 4 fruits to different temperatures. The results are as follows:

Fruit A Fruit B Pruit C FruitD
Temperature 33°C 30°C 20°C 5°C
Time taken to | Splits afier 2 | Splits after 3 | Splits after 12 Nothing
split the fruit |. hours hours hours happens
Distance the : . .
seeds . 1Y4m 1%m Yam Om
scattered

a) What was Aziz trying to find out? [1])

bi)  Draw a nne graph below to show the relationship between the temperature and the
distance the seeds scattered . (1]

i) Label the axes of the graph. . ]

Ay-axis:

)

Lw'.

CH/SC/TG/BA /2005 21




36. .The following organisms are grouped aocording to their main differences.

(a)

()

©

In each , there is one igm that is wrongly classified.

Name the or each . ~ [1]
Group 1:

Group 2:

Group 3:

State the main similarity between the organisms in groups 1 and 3. rj
Staﬁethcmaindiﬂ'ﬁmbdwemtheorgmi_yu:inwlmdl (1]

3




37.  Fill the blanks with an appropriate word each. (3]
The survival ofanorgmismisa.ﬁeotedbythe(a)_ o
chatactmshcs of the mvnromnent. the (b) e . of food and
tbeptweneeofotbetcrgmms Thlsmaybemthe&rmof(c) .- s
'whmhw:llhmtthemdown,mmﬁwmmnqnmgformemehndofﬁmd
ormmo-orgmnsmshke(d) — whchcausemseases.When

PR ARt ’
theoond.monsot‘theetmmnmtbemne(o) e, the
orgamsmsmucnhe:dle,movemyfmm_ﬁnmmndmgsor
f) to the new conditions.

38,  The diagram below shows a food web. . . 3]

A
/l T—— D
F\ B E
—' C
Put a tick (v} in tle cumrect boxes to show whether the statements given are
‘True’, ‘False’ or “Not Possible to Tell’.
True | False | Not Posgsible
- to Tell
a) | Organism A is a mango tree.
b) | Organiem E is both a predator and prey.
¢) | Organism G is an omnivore.
d) | Organism C has a head, body and leg.
e) | Organism A gets its food from 3 other
f) | If the population of organism D decreasss, the
population of organiem C will decreases.
CH/SC/PE/SAL2005 23 6




39.

40,

(@)

®)

)

CH/SC/PG/SAU2005 24 | i 6}

.Steplz

| Step 3

Jeremy wanted to separate the contents of 3 beaker which was filled with water,
sand and iron filings. He was given only a magnet, a filter paper, a funnel and a
measuring cylinder. He could not put the magnet into the beaker.

List down the 3 steps he should take to conduct a fair test to separate the contents.

Step 2:

Jane carried out an experiment in a darkened room as shown in the diagram below.

Sheplaced3d1ﬁerentmatwlsA,BandeaMhne.Whmdwmtchwas
m&hedon,aolearmmﬂarpmhofhgl!wasmmwc

Give a reason to explainwhylightisahbw‘pnfshwghudﬂia!Bevm’dmugh
there is no hole at the position marked X? [1]

Give an example that Material B could be made of. " [1]

What conchusion can Jane infer about Materials A and C from this experiment?

Jz |



41. The diagram below shows an electric circuit.

Draw a circuit diagram in the space provided to represent the above electric
circuit. [2]

42.  The diagram below shows 2 fixed pulley and an inclined planc.

Fixed pulley

()  Which ons of the simple machines above is 2 lever systemn? (%]

() AhMmgfoundtbathcneededmeﬁutofllkgnd25kgmhﬁuptheload
using the two different ample machines shown above.

@) Which one of the above simple machines i¢ more likely to require him to
use an effort of 2.5 kg? (2]

(ii)  Explain your answer in (i). (1]

CH/SC/PE/SAL2
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43. May wants to find out which matesial can keep ice cubcs from melting for the
longest period of time. She then conducted an experiment using the set up shown
below.

AL AII 4 A R A AR ARSI

DxffaeotmmdsA,B,CmdDwmwhpbedmthemat different
nmammemtakmfortheumﬂmumdmbbckmwwmdd as shown
below.

Material Time taken 0 melt the ice ]
A - - - 2h2S min - -
B 1h 45 min
C 435 min
D . lhIOmm

(a) ‘Amgcmematmals&omﬂ;ewwmofhutwﬂaebestoonductorof
heat.

(b) . If you want to keepabloc.k of ice overnight, which one of these materials would

you use? = (1]
(c)  Identify one variable that must remain unchanged for this experiment. o
3
CH/SC/P6/SA 12005 26
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44.  Zhi Rong dropped 4 balls of the same size but of different masses into 4 trays of
fine sand. The balls were dropped from different heights H1, H2 and H3 as shown'

in the diagram below.

(@ Aﬁangéhuémdhgord&&e‘déﬁof&nwm or craters formed in the
trays when the balls are, dropped. Use the lettars A, B, C and D in your answer.

(})  What does this tell you about the géavitational potential cncrgy-ef an object? [1]

N4




45.  Study the diagrams below carefuily.

| -—-.@fl-—— Roto
, Hole "

Aﬁms.-,_/:\c‘"‘“”

Set-up A _Set-up B

Water
wheel

(a) State your observation in each set-up. m

Set-up A:

Set-up B:

(b) _‘_Statemed:ﬁ‘ermcemthemgysomcem the two set-ups that brought about the
_changas in question (a). , ) ‘ [

46. Thepichmbel&vﬁshbwsAﬁpulﬁrxg;SOkglo?wnxbpe.

(a) Apartﬁomthcpullmgforcc,whataretheothﬂnypeaoffomesactmgon
the 50kg load? 1]

®) ForAhwpulltthOkgloadwtheslope,doesheneedtoexenagreater
equal or lesser amount of force? 1]

() Suggest Fow Jou's pull e load using a force that is less than 50 kg. [1]

CH/SC/PESAL2005 28
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03.
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31)

32)

33)

34)

35)

2 1. @ 21. 2
2 12. 3 2.4
3 13. 2 23.3
4 14. 4 24. 1
4 15. 3 25. 1
4 16. 3 28. 4
2 17. 2 27. 3
4 18. 1 28. 1
> 19. (1) 2. (4)
1 20. 1 30. 4
a) (YP\ B b) seeds

a) Bicep muscle

b) The bicep work harder as it has to pull the lower bone
up, therefore works against gravity.

a) To prevent evaporation of water.

b) To act as a comparison for beaker X and Y and to show
that the decrease in water level is due to the plant
taking in water.

a)C?E:\ b) The heart of both the human and fish pump
ED oxygen, digested food and water to all parts
(=

a) He was trying to find out whether temperature affects

the time taken to split the fruit and the distance the
seeds are scattered.

b)

*)

T‘f-\sr ((

Durhae (=)

36) a) Group 1 : Bread mould

2 : Dragon scale fern
3 : Paramecium

b) Both reproduce

c) Group 1 can photosynthesize to make food whereas Group 3 -

needs to feed on decomposing matter.

(/’l




37) a) physical b) amount ¢) predator d) virus
e)unfavourable f)adapt

38)

39) Place the magnet over the beaker to get the iron filings
out,

Place the filter paper in the funnel and put the funmel on
top of the measuring cyliander.

Pour the contents in the beaker into the funnel to separate
the water with the sand.

40) a) Material B must be transparent.

b) Glass

c) Light cannot pass through materials A and C

41) Ca 46) b) Air needs to exert a force
greater than 50 kg.

c) Put wheels below the load
Y l‘—-\\—t
42) a) The fixed pulley.
b) i) The fixed pulley

ii) A fixed pulley requires a great&r effort to
overcome the load due to frictio

43) a) Material A, material B, material D, terial C.
b)I would use material A
¢) The number of ice cube.

44) a) Tray C, tray B, Tray A and tray D.

b) The GPE of an object depends on its heighti from the

surface and its mass.
45) a) The water from the beaker will turn the water wheel.

The paper cup will start to spin.

b) A:The energy source is GPE and KE of water

B:The energy source is KE of air brought out by the
burning candle.

46) a) Frictional and gravitational force.




